
La table de 2 

1. Entoure la bonne réponse 

2 × 7 =                   12 - 14 - 13 - 11               2 × 3 =                8 - 6 - 2 - 4  

2 × 0 =                 0 - 2 - 1 - 20           2 × 6 =   14 - 12 - 13 - 11  

2 × 5 =    16 - 14 - 12 - 10  2 × 1 =       2 - 21 - 3 - 12  

2 × 11 =   211 - 22 - 20 - 112   2 × 8 =   10 - 16 - 12 - 20  

2 × 9 =               14 - 12 - 16 - 18             2 × 4 =       6 - 5 - 8 - 4  

2 × 2 =    22 - 2 - 4 - 12         2 × 10 =   20 - 22 - 12 - 18  

2. Ecris le nombre manquant  

2 × .......... = 0     .......... × 2 = 0     2 × .......... = 8  

2 × .......... = 2     .......... × 2 = 10     2 × .......... = 16  

.......... × 2 = 4     2 × .......... = 12     .......... × 2 = 14  

2 × .......... = 4     .......... × 2 = 12     2 × .......... = 18  

2 × .......... = 22     .......... × 2 = 6     2 × .......... = 14  

.......... × 2 = 2     2 × .......... = 20     .......... × 2 = 18  

2 × .......... = 10     .......... × 2 = 16     .......... × 2 = 8  

.......... × 2 = 20     2 × .......... = 6     .......... × 2 = 22  

3. Écris ta réponse.  

  

2 × 0 = ……….   2 × 1 = ……….   2 × 2 = ……….     

2 × 3 = ……….   2 × 4 = ……….   2 × 5 = ……….  

2 × 6 = ……….   2 × 8 = ……….   0 × 2 = ……….    

2 × 9 =  ……….   2 × 10 = ……….   2 × 11 = ……….  

 

 

 

 

 

 

 

 



Corrigé :La table de 2 

1. Entoure la bonne réponse 

2 × 7 =                   12 - 14 - 13 - 11               2 × 3 =                8 - 6 - 2 - 4  

2 × 0 =                 0 - 2 - 1 - 20           2 × 6 =   14 - 12 - 13 - 11  

2 × 5 =    16 - 14 - 12 - 10  2 × 1 =       2 - 21 - 3 - 12  

2 × 11 =   211 - 22 - 20 - 112   2 × 8 =   10 - 16 - 12 - 20  

2 × 9 =               14 - 12 - 16 - 18             2 × 4 =       6 - 5 - 8 - 4  

2 × 2 =    22 - 2 - 4 - 12         2 × 10 =   20 - 22 - 12 - 18  

2. Ecris le nombre manquant  

2 × ....0...... = 0     ......0.... × 2 = 0     2 × ......4.... = 8  

2 × ...1....... = 2     ......5.... × 2 = 10     2 × ....8...... = 16  

.....2..... × 2 = 4     2 × ....6...... = 12     .....7..... × 2 = 14  

2 × ....2...... = 4     ....6...... × 2 = 12     2 × .....9..... = 18  

2 × ...11....... = 22     .....3..... × 2 = 6     2 × .....7..... = 14  

......1.... × 2 = 2     2 × ......10.... = 20     ....9...... × 2 = 18  

2 × .....5..... = 10     .....8..... × 2 = 16     ......4.... × 2 = 8  

....10...... × 2 = 20     2 × ....3...... = 6     .....11..... × 2 = 22  

3. Écris ta réponse.  

  

2 × 0 = …0…….   2 × 1 = …2…….   2 × 2 = ……4….     

2 × 3 = …6…….   2 × 4 = ……8….   2 × 5 = …10…….  

2 × 6 = ……12….   2 × 8 = …16…….   0 × 2 = ……0….    

2 × 9 =  ……18….   2 × 10 = …20…….   2 × 11 = …22…….  

 

 

 

 

 


